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MISSION SELECTION - SSC 2024

Q.1 A series is given with one term missing. Choose the
correct alternative from the given ones that will complete the
series. / Tk 3TehA faar T 7, frew & uh us 9w 71 fRu g
forereat 7 & o8 wEt forshe g0 ST o1 7ehw Rt T Y

DM, EN, FO, ?
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(a) Only assumption 1 is implicit. Q-2 Statement: T

FI YR 1 AR 2 The 'Swachh Bharat', keep your city clean campaign

(b) Neither 1 nor 2 is implicit launched by the Apartment Association has not received

Tar 1 iR TE 2 safifta 2 much response from its residents.
JUTEHE TETTHUIH ZRT & fohaT AT w0 WRA', 3T 8T i

implicit. AT T, ATHAT Tl IGeh HATROET | SATET TidishaT A8l Wt
1 i1 2 St aerRomTe stafifRa § T
(d) Only assumption 2 is implicit. Assumption: / uﬁamrr:

FHI YA 2 afted 2l 1. Local residents do not like to keep their apartments clean.
1. TATN FAETET 37U STUTEHE hil ATH A& WEAT TTgd|

2. The association campaign failed.

2. TETRUITT T § STEheT &

(¢) Both assumptions 1 and 2 are
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Q.3 Select the correct combination of mathematical signs to replace

the * signs and to balance the given equation.

* gt @t gfaeeniud ok fou Ty adiewor &t @qiea & o forg
T I RIgt o Tt T Rt 99 hifeTu)
14 %11 %22 %56 * 8
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Q.4 Select the option that is related to the third

term in the same way as the second term is
related to the first term and the sixth term is

related to the fifth term.
39 IheT T T9T R T AW U2 O I TR

defera & foe TR 6w ug ugel ug & Heifq @
3TR 3T US Uira ug & Heifer 2l |
24 :137::14:?::18 : 101

a)87 b)65
082 d)77
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Q.5 Which two numbers, from amongst the given
options, should be interchanged to make the given

equation correct?

3T T AHTRTOT ST |ET S o fote fau e foemeat
T & TR 37 weaTetl &Y STTUd | 9EeT WHT 9?2
825+ (24T 6)+17+(5 X 8§) =127

a)82and24 b)6and8
¢)Sand 17 d)5and 8
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Q.6 Select the option that is related to the fifth term in the same way as

the second term is related to the first term and the fourth term is

related to the third term.

30 forehed &1 o9 i AT giwrd ug ¥ IHT TR Hefe @ fa genr gaa

U Ugel U ¥ 3 eIt ug el ug | gefira 2|
NEUTRAL : NAUTREL : : PACIFIC : PICIFAC : : LOYALTY : ?

a) LTYALOY b) LOAYLTY
¢) LTAYLOY d) LOYLATY
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Q.7 The second number in the given number pairs is obtained
by performing certain mathematical operation(s) on the first
number. The same operation(s) are followed in all the number

pairs, except one. Find that odd number pair.

2T T HeaT Tt U et @At UEelt HEdt W H T
HToRATT oh¥eh TTH <Rl ST g1 Teh ohl BIgeRt AHt €& T |
T HIhaTatT ST STTERuT foharT SiTat g e wiean I 7

a)537:15  b)917:17
©)459:19  d)673:16
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Q.8 In a certain code language, 'MUSIC' is written as
‘LNTVRTHJBD’ and 'VIOLIN' is written as
'UWHJIJNPKMHJMO’. How will 'CHORD' be written in
that language?

T [Afea e Wt |, 'MUSIC' &t 'LNTVRTHJIBD' 3R
'VIOLIN' %! 'UWHJNPKMHJMO' & &9 ¥ ferar wmar 2
IHY e WTHT H 'CHORD' &% fera wmorm?

a) BDGPIPQSCE b) BDGINPQSCE
¢) DBGINPQSCE d) BDGINPQECS
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Q.9 Which letter-cluster will replace the question mark
(?) to complete the given series?

¥ T3 SEET T YT S o ToTT Terameres g (2) & €
U I AT TE-THE ATC?

RRQZ, MADQ, ?, CSDY, XBQP

a) HIQH
b) HLQJ
¢) GYJZ
d) GJPQ
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Q.10 If 30 January 2010 was Saturday, then

what was the day of the week on 01 March
20112

i 30 SR 2010 T ISR o7, | 01 |
2011 ShT HTE T i 9T {37 212

a) WA / Monday b) HTAAR / Tuesday
C) A / Sunday d) 9991/ Wednesday
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“:’i |—-l FD\
//\\?\\_‘-‘-/ /7~

Q.11The sequence of folding a piece of paper and the
manner in which the folded paper has been cut is shown in

the following figures. How would this paper look when
unfolded?/STTT % Uk gohe i AIS o1 3hA IR R a@ &
WY EU KT Sl 1T AT 8, 30 Fmferitaa srrepiaai # wgivr
TR 1T Bl T AT WX I RIS ShdT (GETT?
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Q.12 How many triangles are there in the given

figure?/dt T3 TR ¥ fehaw Forer &2

a) 8 b)6 ¢)10 d) 12
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Q.13 Select the option that is embedded in the

given figure as its part (rotation is NOT

allowed)./39 TSrehed T TG Y ST 31 T3 HATHIA A
FHch W o €U W A(~11ed § (FUT chl SFTATA &1 2)|
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Q.14 Two different positions of the same dice are shown, the
six faces of which are numbered from 1 to 6. Select the

number that will be on the face opposite to the one showing
'6'.Teh &1 UTH ok ST TeNT-TeT T fam o §, ot @ o2
TheTehl ol 1 U 6 Ak 3ifchd foRaT TEIT 31 ST E&AT T <& R AT
'6" TITI AT o fradia weTeh UX M

salse

a) 1

)2
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Q.15 Select the correct combination of
mathematical signs to replace the * signs
and to balance the given equation.” %IE.BI i
T AR 3T 7T WHTROT St Hdfera A F
foru Tt fergt o |t |t Rt <& il
41*3*53*48*3*18*5*36(\

=\
=\

a)_a X,—,=,+’ X,—
b)_9_3+9 Xa_a -, t
C)x,— = ;,+,X,—

d) +, = Xa +, =, Xa -
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Q.16 If 22nd January 2011 was a Saturday,

then what was the day of the week on 23rd

January 2015?
i 22 AT 2011 T ISR AT, 97 23 TS
2015 ShT THTE kT Hi7 AT &7 12

a) AR / Saturday ~ b) YR / Friday
C) HHAR / Monday d) am / Sunday
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Q.17 In the following question, select the number

which can be placed at the sign of question mark

(?) from the given alternatives. / IEL= I GILC LR ‘ﬁ‘,
fau o farereat § & wyr g (7) & €T WR ST aTet
AT 1 I

A)10 B)11
C)12 D)14
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(a) Neither absolute assumption

1 nor assumption 2 is implicit.

AT A7 YUTESTRUTT 1 A7 & g emoT 2
afTed 2l

(b) Only assumption 1 is implicit.
o e | srafifea 2

(¢) Only assumption 2 is implicit.
o e 2 st #

(d) Both the assumptions are
implicit.

T YR SFfTed 2l

Q.18 Argument / Statement : Teh / U
WARNING: Consumption of alcohol is

injurious to health.

TqATHT: IR T WA W o {7g
1. Warning is not required.

TRk 2l
Assumptions :uﬁ&mun@’r: oy
1. AT T ATAIHRAT Tl 2l

2. People who do not consume alcohol

remain healthy.

2. IRTS T VST AT FlT ITel ANT T &
2
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Q.19 Which of the following numbers will

replace the question mark (?) in the given
number series?

FeferRaa @ @ i it wwan 3 g et dEen o
ey forg (?) St afaenfua swaft?
1244, 624, 314, 2, 815, 4275 ( 205

a) 156
b) 159
¢) 155.5
d) 157
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Q.20 Two different positions of the same dice are shown,
the six faces of which are marked as A, B, C, D, E, F.
Select the letter that will be on the face opposite to the one

showing 'B'./Uek &1 UTH <hl &1 W—W&Qﬁ'ﬂ'\fmﬁ‘l‘é
3, RAsvewe® A, B, C, D, E, F % & & fufga d1 3@
TS RT AT i ST 'B' TV AT WeAeh oh [U{Id WeTeh U

> <>

N

a) A b)D ¢) C d) E
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Q.21 Select the option that is related to the fifth word in the same way as

the second word is related to the first word and the fourth word is related
to the third word (The words must be considered as meaningful English
words and must NOT be related to each other based on the number of
letters/number of consonants/vowels in the word)
Centre : Central : : Character : Characteristic : : Ambition : ?
ThE : e : : A : TV : : WEcATehi&lT : ?
a) AgcdTehiefl / Ambitious
b) TaAET / Amusing
C) T Tehd i ATEAT / Astounding
d) faew=eRTit / Amazing
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Q.22 Which letter-cluster will replace the question

mark (?) to complete the given series?

& TS HTET T U T oh oT0 i AT STER-THE TA
ferg (2) =t afaweriua wam?

DPSQ, GTXW, ?2, MBHI, 4 A7 (0

a) HWBC
b) KXDC
¢) IJDE
d) JXCC




1/

{ —

N

/3
;
L
¥/

[
Lot ‘9

MISSION SELECTION - SSC 2024

Q.23 A paper is folded and cut as shown below. How will
it appear when unfolded?/ = few@mg HTAR Ueh ShTTT hl
HIST 3T ShTeT ATAT 8l T AT U I8 hdT [e@mg 20m?
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Q.24 Which of the following numbers will

replace the question mark (?) in the given
series?
Prerferfem # & @i o dear & sferen i
wer Torg (2) Y ataeeiua Saii?

7, 8§ 12, 39, 55, 180, 216, ?

a) 555
b) 559
¢) 595
d) 599
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Q.25 In a certain code language, "THEORY' is written as

‘YROEHT’ and ‘OPTION?’ is written as ‘NOITPO’. How
will '"EXPERT' be written in that language?

T (T3 e Wt H, 'THEORY' & 'YROEHT' 3R
'OPTION' & 'NOITPO' @t et 21 387 9T |
'EXPERT' & fer@t smoem?

a) RTEPXE
b) TRERTE
¢) TREPXE
d) TREPEX






